(@) AbsMaxis3atz = 0 andz = 2. AbsMin is-1atz = v/2.
(b) AbsMaxis3atz = 0. AbsMinisOatzx =1 andzx = —1.

(a) all x exceptfor x =1 andz = —1.

(b) horizontalasymptoteaty = 2; verticalasymptotesitz = 1 andx = —1.
(c) increasindor z < 0, z # —1 anddecreasindor = > 0, z # 1.

(d) concaeupforz < —1 andz > 1; concaedownfor —1 < z < 1.

. sorry, we didn’t includethegraph!

. theselimits areusingL’Hopital’s rule which we will not be testingyou on this exam. If
you areinterestedaskyour professohow to calculatethesdimits.

. if wis width, wefind thatw = 120/3), sothelengthis 2w = 2 x 12(1/%) andthe heightis
8/w? = 8/(12(3/9).

(@) v(t) = —32t +8

(b) s(t) = —16t> + 8¢ + 80

(c) att = 1/4 seconds.

(d) att = 2 seconds.

. f(z) = 3e® — 4cos(x) + (2/5)z6/P + C



